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¥l z9zmx [ NS | EW | 25z2s | NS | EW | #1 | #4 | #1 ] #4|#1 | #4 || Mean | Ns EW
17 | N |None 2SS2 110 2SS-1 50 160 4 NS40 2 3
18 E NS 2SW4 170 3NE4 430 260 6 EW400 6 1
19| S | EW 4SE-1 100 3HS3 140 40 1 NSO 3 -4
20 | W |Both 6CW7 1390 4HW6 680 710 12 EW1030 -8 -8
21 N NS 4HS4 620 3NN-2 200 820 13 NS320 7 1
22 E | EW 4HE4 620 4HXE4 790 170 5 EW700 2 3
23 | S |Both 5SW5 650 4SW6 680 30 1 EW580 -2 3
24 | W [None 4SN-1 50 3NS-2 100 50 2 NS110 -4 5
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bl H2%% | NS | EW | 6%=223% | NS | EW | #2 | #6 |#2| #6 | #2 | #6 || Mean | Ns EW
17 | N [None 2SS-1 50 2SN2 110 160 4 NS40 -3 -2
18 E NS 3NE3 400 4SW4 420 20 1 EW400 1
19| S | EW 4HXS-3 500 4SW-4 400 900 14 NSO -11 -9
20 | W |Both 6CW7 1390 3NW6 690 700 12 EW1030 -8 -8
21 N NS 4HS4 620 4HS4 620 NS320 7 -7
22 E EW 4HXE4 790 4HE4 620 170 5 EW700 -3 -2
23 | S |Both 4SW6 680 6SW-1 100 780 13 EW580 -3 -12
24 | W |None 4SS-1 50 4SS4 420 470 10 NS110 -4 -7
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Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #3 | #8 | #3 | #8|#3|#8 || Mean | Ns | EW
17 | N |None| 2ss-1 50 3HE-2 100 150 4 NS40 | -3 -2
18| E | NS 3NE4 430 3NE4 430 EW400 | -1 1
19| s |Ew 4SE4 620 3NW-1 100 720 12 NSO | -12 -3
20 | W [Both|  3Nws 660 6CW7 1390 | 730 12 EW1030| 9 8
21| N | NS 3NN5 660 4HS4 620 40 1 NS320 | 8 7
2| E|EW 4HE4 620 4HW5 650 | 30 1 EW700 | 2 2
23| s |Both| 4sws 650 4SW6 680 | 30 1 EW580 | -2 3
24 | W [None|  4sN4 420 4SN4 420 NS110 | 7 7
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1
R txzux | NS | EW | 25223 | NS | EW | #5 | #9 | #5| #9 | #5 | #9 Mean NS EW
17 | N |None 2SS-1 50 2SS2 110 160 4 NS40 -3 -2
18 E NS 3NE4 430 3NE4 430 EW400 -1 1
19| S | EW 3NW-1 100 3HS3 140 40 1 NSO 3 -4
20 | W |Both 6CW7 1390 3NW7 720 670 12 EW1030 -8 -7
21 N NS 4HS4 620 4HS-1 100 720 12 NS320 7 9
22 E | EW 4HXE4 790 4HW4 620 170 5 EW700 -3 -2
23 | S |Both 4SW5 650 4SW5 650 EW580 -2 2
24 | W [None 2HN-5 250 4SS4 420 670 12 NS110 -8 -7
@3t IMP|12 | 34 A5 | 10
17 . -> 2\ (Y4
B 5 Feis R & 9 HFEIFELK
* B IMP 12 34
&3+ IMP 12 34 »
B 3VP 3.10 16.90




y S S < 2
3| Ipsg<zrApEmppierrl | 3| 0 o
i
NS & sz 8(R0) 7 T bl 5 1 O NS #$&# § %P0
EW Ze® LH%F0) a e EW 122 ®L3(R0)
g# | pL | &5 ol 4 MEz ik REAA | COP Datum
Y 2mams [ Ns [ EW | 25rex | Ns | EW | #7 | #10 | #7 [#10] #7 [#10 || Mean | NS | EW
17 | N |None|  2ss3 140 2HE-1 50 90 3 NS40 | 3
18 | E | NS 3NE5 460 3NE4 430 30 1 EW400 | -2 1
19| s |EwW| scw-2 | 200 3HS-2 100 | 300 7 NSO 5 3
20 | W |Both| 5CW7 640 6CW7 1390 | 750 13 EW1030| 9 8
21| N | NS| 3NN-1 100 4HN-1 100 NS320 | -9 9
22| E | EW| 4HXE4 790 |  4HXW4 790 EW700 | -3 3
23| S |Both| 4SWe 680 4SW5 650 30 1 EW580 | -3 2
24 | W |None|  4SN-1 50 4Ss-1 50 NS110 | -4 4
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Kl z9zmx | NS | EW | 25z2% | NS | EW | #4 | #1 | #4 ] #1 | #a|# || Mean | Ns | EW
17 | N |None| 2ss-1 50 25S2 110 160 4 NS40 | -3 -2
18| E | NS 3NE4 430 2S5W4 170 260 6 EW400 | -1 -6
19| s |Ew 3HS3 140 4SE-1 100 40 1 NSO 4 -3
20 | W [Both| 4Hwe 680 6CW7 1390 | 710 12 EW1030| 8 8
21| N | NS 3NN-2 200 4HS4 620 820 13 NS320 | -11 7
22| E | EW| 4HXE4 790 4HE4 620 170 5 EW700 | -3 -2
23| s |Both| 4swe 680 5SW5 650 30 1 EW580 | -3 2
24 | W [None|  3Ns-2 100 4SN-1 50 50 2 NS110 | -5 4
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b= H2%% | NS | EW | 6%=223% | NS | EW | #6 | #2 | #6 | #2| #6 | #2 || Mean | Ns EW
17 | N |None 2SN2 110 25S-1 50 160 4 NS40 2 3
18 | E | NS 4SW4 420 3NE3 400 20 1 EW400 -1
19| S | EW 4SW-4 400 4HXS-3 500 | 900 14 NSO 9 1
20 | W |Both 3NW6 690 6CW7 1390 | 700 12 EW1030 8 8
21| N | NS 4HS4 620 4HS4 620 NS320 7 -7
22 | E | EW 4HE4 620 4HXE4 790 170 5 EW700 2 3
23 | S |Both 6SW-1 100 4SW6 680 | 780 13 EW580 12 3
24 | W |None 4SS4 420 4SS-1 50 470 10 NS110 7 4
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #8 | #3 |#8 ] #3 | #8 | #3 || Mean | Ns EW
17 | N |None 3HE-2 100 28S-1 50 150 4 NS40 2 3
18 | E | NS 3NE4 430 3NE4 430 EW400 -1 1
19| S | EW 3NW-1 100 4SE4 620 720 12 NSO 3 12
20 | W |Both 6CW7 1390 3NW5 660 730 12 EW1030 -8 -9
21| N | NS 4HS4 620 3NN5 660 40 1 NS320 7 -8
22 | E | EW 4HWS5 650 4HE4 620 30 1 EW700 2 -2
23 | S |Both 4SW6 680 4SW5 650 30 1 EW580 -3 2
24 | W |None 4SN4 420 4SN4 420 NS110 7 -7
23 INP| 16 |15 9 | -8
B3 8 TEREANL | 3 B3
> BINP 16 15
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1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #9 | #5 | #9 | #5|#9 | #5 || Mean | Ns | EW
17 | N |None|  2sS2 110 25S-1 50 | 160 4 NS40 | 2 3
18| E | NS 3NE4 430 3NE4 430 EW400 | -1 1
19| s | EW 3HS3 140 3NW-1 100 40 1 NSO 4 -3
20 | W |Both| 3Nw7 720 6CW7 1390 | 670 12 EW1030| 7 8
21| N | NS 4HS-1 100 4HS4 620 720 12 NS320 | -9 7
2| E|EW| 4HwWa 620 4HXE4 790 | 170 5 EW700 | 2 3
23| s |Both| 4sws 650 4SW5 650 EW580 | -2 2
24 | W |None|  4ssa 420 2HN-5 250 | 670 12 NS110 | 7 8
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7 NS nmi®E w3 8(R0)
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #10 | #7 [#10] #7 [#10] #7 || Mean | Ns EW
17 | N [None 2HE-1 50 2SS3 140 90 3 NS40 -3
18 E NS 3NE4 430 3NE5 460 30 1 EW400 -1 2
19| S | EW 3HS-2 100 5CW-2 200 300 7 NSO -3 -5
20 | W |Both 6CW7 1390 5CW7 640 750 13 EW1030 -8 -9
21 N NS 4HN-1 100 3NN-1 100 NS320 -9 9
22 E EW 4HXW4 790 4HXE4 790 EW700 -3 3
23 | S |Both 4SW5 650 4SW6 680 30 1 EW580 -2 3
24 | W |None 4SS-1 50 4SN-1 50 NS110 -4 4
@3 IMP| 2 |23 30 | 4
2 23
3 10 TE 7 el
* B IMP 2 23
&3 INP 2 23 a1
2 HVP 3.32 16.68




